N = 0 &8 AF S & A A
20199 & =20l & L EHGH|
SEAM: AMISK B
HM: XAASEX It ZE (A2 X /AIE 2 XL
Sol: XS ASSX S CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
Ab3l = X ot 45,981,759 43,831,539 2,150,220
= 33,000, 174
Fag 1,153,210
== 2,864,309
Al 8,964,066
KSASI =X I8t ZE(MISX /AR S X LB 5,992,136 5,648,515 343,621
= 250,188
Fag 1,153,210
== 389,324
Al 4,199,414
XNSEAS S XS 4,484,519 3,935,702 548,817
= 221,972
Fag 1,153,210
== 305,416
Al 2,803,921
ArZ S X2 22| 2,022,007 1,597,576 424,431
== 40,000
Al 1,982,007
202 04| 1,800 2,108 A 308
01 2L 1,800 2,108 A 308
= 0ff A 1,800 2,108 A 308
OMI =X TS RFE 20 b
150, 000& *3H x4 3] 1,800
301 ot A= 19,500 19,500 0
08 AISI=RLAEMS 19,500 19,500 0
= 0l & 19,500 19,500 0
OAS =X MR SAH|
8,000& x10Y 202 x 122 19,200
OAMNZ=X& AMIIESRA MlE8 s
30,000& «10H 300
307 QIz2tol & 1,470,707 1,345,668 125,039
10 MISIAEEHI2IHEX 1,470,707 1,345,668 125,039
= Ol & 1,470,707 1,345,668 125,039
OSZASEAZ=SXNZ 2EH|
831,050,0000& * 14! 831,050
OMNEESAIG 22 2HH|
366,987 ,000& » 14! 366,987
O&elArg = X2 2&EHl 272,670,000 * 14 272,670
401  AIEHIZ20iH] 530,000 230,300 299,700
== 40,000




A AR S X
FH: XSAS =K 18 =S (ASISXI/ALSI =X L BH)

el KYAS 2SR S
% = = 0l &FoH & S T 0] AFoH ~
SN -3 .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
401 A& HI 220 Al 490,000
01 Al&d] 530,000 230,300 299,700
< 40,000
Al 490,000
=0l A 530,000 230,300 299,700
< 40,000
Al 490,000
OZ2Y0IIME MHES(ELY nH)
60,000, 000! 14l 60,000
OSZANZEAS2XZ MIAL SU3
A (Z=CIEN) 100,000, 0002 * 1Al 100,000
OSZASEANIEXNZ 22 HES
200,000, 0002 * 1Al 200,000
ONSEEA=EX2 NEA HX SAHE
OIEN) 100,000, 0002 * 1Al 100,000
[ 20,000
Al 80,000
Od2lAslsXZ 202 2+ SAH(FLUEO
) 50,000, 000 14l 50,000
OARIAISIEXZ JIsE2
20,000, 000! 14l 20,000
< 20,000
ASIEX 2 EAL Sg2 36,630 38, 160 21,530
[ 18,315
Al 18,315
307 ©IZtO| ™ 36,630 38, 160 21,530
[~ 18,315
Al 18,315
10 ASISEXANEHEHESHHEX 36,630 38,160 A 1,530
[ 18,315
Al 18,315
=0 & 36,630 38, 160 21,530
= 18,315
Al 18,315
OAMBIEXZ SAL EE2L(32Y)
36,630,000 » 14! 36,630
< 18,315
Al 18,315
ABEXAE MSHE XA 12,000 15,000 23,000
307 G20l ™ 12,000 15,000 A 3,000




SM: ASISX
HH: NSAMESA et TS (At SXI/AEI S X8t
cel X HABI SN EA (69l @
x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T BlRE2
11 AMIISAANHEEE 12,000 15,000 A 3,000
= Off & 12,000 15,000 A 3,000
OAM2=XAE SAR MU XA
9,000,000 » 14! 9,000
OMIIEXAE SAL 212 f35 X
& 3,000,000& =14 3,000
A2 =X JIEFE A& ALY 65,240 83,682 N 18,442
201 et 11,640 10,520 1,120
01 At 2teltl 11,640 10,520 1,120
= Off & 11,640 10,520 1,120
Oggr=2tl 1,700
— NIMEHFHE AXE ML &2t
10,000& »100= 1,000
—XNGASRNLE R 22t H &Y
70,0003 10 700
Oo2gd=+% 9,940
—NIAMIEBEEEAM 2 s+ 8,820
HEEAM s+
70,0003 x15F #23| 2,100
-AREYM 3o+
70,0003 x20Y x23| 2,800
NRHOH EDHES +Y
70,000 x28F *23| 3,920
— MIIEXA XNAE23 3o
70,0003 x8H »23] 1,120
202 Ol 3,000 3,162 A 162
01 3L Y| 3,000 3,162 AN 162
= 0fl &F 3,000 3,162 A 162
OXAAZEEAE F& 262/ 0]
150,000 4 H x53| 3,000
301 get2a= 50,600 50,000 600
01 MIEHEHE=HS3 50,000 50,000 0
= Off & 50,000 50,000 0
OdY 2 558 HASS 22(3,000)
25,000,000& »23| 50,000
09 AAHIEAZ 600 0 600
= Ofl &F 600 0 600
OSEZXNIMISXNALEAES 2t N
300,000& 23] 600
NGA=XNE2AM K2 A 42,930 39,820 3,110

H

6,000




SM: ASISX
HH: NSAMESA et TS (At SXI/AEI S X8t
el NAAMS=EXSA (&)
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e BT BlRE2
Al 36,930
307 giztold 42,930 38,700 4,230
< 6,000
Al 36,930
10 MEIEXAMNEHEE2IHIEX 40,500 33,000 7,500
< 6,000
Al 34,500
= Ofl & 40,500 33,000 7,500
= 6,000
Al 34,500
OXGAMIBEEAM 294
40,500,000& =14 40,500
& 6,000
Al 34,500
11 At SXALSE X 2,430 2,700 A270
= Ofl & 2,430 2,700 A 270
OMIEXANE SAL /S
2,430,000 » 14! 2,430
SESEXME 29 270,000 135,000 135,000
306 =9z 227,000 0 227,000
01 &¢3 227,000 0 227,000
= Off & 227,000 0 227,000
OSEX=EXNNME 24320012 YY)
100,000, 000& * 13 100, 000
O=SEX=EXNME 28 K&
127,000, 000& * 14! 127,000
307 giztold 43,000 135,000 292,000
11 AL SXAFSE EX 43,000 0 43,000
= Off & 43,000 0 43,000
OSZSIME 28 EX (A &2 2
o) 43,000,000& =14 43,000
S A=R1294H 24 8,505 7,289 1,216
201  LEtE 7,005 6,235 770
01 AtR2Zeldl 4,150 3,500 650
= Ofl & 4,150 3,500 650
OgBt=+=2H| 4,150
—SYSXN XA QLN M=
2,000& x1,000% 2,000




SN

At = Xl ot

Hz: XGAS=EX DIl ZA (A =2X /AL =X L8t
Sol: XS ASSX S CER-E
] _ . sy 412 0 &k o -
SA BB () - MM - BAS tiert g =t HDE2
%o BEED
—3Y=X A2 2EAHA ME
250& x5, 0000H 1,250
—0I2E) Y AHOURE B0 B
50,000& *10Y 500
— = NAAMSEHHAM /I=E M
4,000& =1000H 400
02 3=29gH| 2,855 2,735 120
= 0ff &F 2,855 2,735 120
O332=2 % MA 2,855
—3|Y=X 1292 dH H}RB
15,000 x2CH 128 360
NESINEHAHH s
207,900& x12& 2,495
202 Ol 1,500 1,054 446
01 =2LHodd] 1,500 1,054 446
= 0ff &F 1,500 1,054 446
OBY=NNE LPXH (D] L A2
) 150,000& *10H 13| 1,500
ANZF? SeAtdl el K& 15,000 15,000 0
= 7,500
= 2,250
Al 5,250
201 E294| 7,430 7,430 0
= 3,715
= 1,115
Al 2,600
01 At2R22lyl 4,050 4,450 AN 400
= 2,025
608
Al 1,417
= 0ff &F 4,050 4,450 A 400
= 2,025
= 608
Al 1,417
o2g=x4Y 4,050
— S& Al Z2lA =] ol
150,000 x5 43| 3,000
= 1,500
& 450
Al 1,050




SN

At = Xl ot

HM: XAASEX It ZE (A2 X /AIE 2 XL
e XNGAsEXsd (e &
SN BB S(BH) - MBAY - BaS o @(ijf;ﬁ% HRE2
— ARG 2 (ABEE2I}) sl
70,000& *3H x53] 1,050
= 525
== 158
Al 367
03 SAI2HH| 3,380 2,980 400
= 1,690
= 507
Al 1,183
= 0ff A 3,380 2,980 400
= 1,690
== 507
Al 1,183
OglAd=XNgR F& 24E3 283 & 7Y
338,000& *103] 3,380
= 1,690
== 507
Al 1,183
301 Qutg A= 7,570 7,570 0
= 3,785
== 1,135
Al 2,650
01 AMSIEEEHLG =2 7,570 7,570 0
= 3,785
= 1,135
Al 2,650
= 0l & 7,570 7,570 0
= 3,785
== 1,135
Al 2,650
ORI MEX&dl K& 200,000&*24H 4,800
= 2,400
== 720
Al 1,680
ORIt X&=d8dl 8 XN
400,000 x4H 1,600
= 800
== 240




A AR S X
FH: XSAS =K 18 =S (ASISXI/ALSI =X L BH)

o2 XNAAMS=XSE e = A
SH-EH. (AN NRANY - B (o) ) s
Al 560
OFMHXSHH L XZHXF 390,000 x3H 1,170
= 585
= 175
Al 410
=0 ENA 5,000 5,000
301 LerEaZ3 5,000 5,000
01 A EEES63 5,000 5,000
=0 5,000 5,000
Odedlt A&t X3 25,000& »200 5,000
SHs A58 sSEMUA XA 193,200 193,200
2 135,240
= 17,388
Al 40,572
201  Et2I| 55,200 55,200
= 38,640
= 4,968
Al 11,592
01 At 2teltl 55,200 55,200
= 38,640
= 4,968
Al 11,592
=0 55,200 55,200
= 38,640
= 4,968
Al 11,592
OSHMaE AMdl2el 238 X
2,400,000& *23M = 55,200
= 38,640
& 4,968
Al 11,592
301 detEaz 138,000 138,000
= 96,600
& 12,420
Al 28,980
01 A EEESGHS 138,000 138,000
= 96,600




A AR S X

FH: XSAS =K 18 =S (ASISXI/ALSI =X L BH)

& NGASSXESA

o)
{0
]
{0

SN BB S(BH) - MBAY - BaS (ggz::) @(ijf;ﬁ% HRE2
01 AISIEEE=6 =2 & 12,420
Al 28,980
= 0ff &F 138,000 138,000 0
= 96,600
== 12,420
Al 28,980
OSYs At 22l APl X
6,000,000 23 = 138,000
= 96,600
== 12,420
Al 28,980
NEXEE Al AHIA EXHALE 1,649,543 1,650,395 N B852
Fag 1,153,210
== 197,693
Al 298,640
201 2AE2AH| 3,000 3,000 0
Fag 2,100
== 360
Al 540
01 Ar®2te2lbl 3,000 3,000 0
g 2,100
== 360
Al 540
= 0l & 3,000 3,000 0
Fag 2,100
== 360
Al 540
OXNYASNHMEBIAEXAIYE 2|
3,000,000& 3,000
Fag 2,100
== 360
Al 540
202 044l 2,100 2,952 N 852
01 =2UWAH 2,100 2,952 N 852
= Ol & 2,100 2,952 N 852
OXNGASMEIAEXAIY /385 220l
150, 000& *2H x4 3] 1,200
OXNYASMHIAEXAIY A& X AS
150,000& *2H *33| 900




SN

X XH -
S =

At = Xl ot
KNAAB S Ol8 =8 (MEISX/ALE SR LeH)

Sol: XS ASSX S CER-E
SA BB (3AH) - HRAY - BA= o) ) HDE 2
301 ergaa 247,143 247,143 0
iy 173,000
& 29,657
Al 44,486
01 A EEESGH S 247,143 247,143 0
ns 173,000
< 29,657
Al 44,486
= 0ff &F 247,143 247,143 0
= 173,000
= 29,657
Al 44,486
OJIAIIE S 2 X & AP (120Y)
247,143,000 =14 247,143
iy 173,000
= 29,657
Al 44,486
307  gI2tol A 1,397,300 1,397,300 0
= 978,110
= 167,676
Al 251,514
11 AMISAAMBEE 1,397,300 1,397,300 0
= 978,110
= 167,676
Al 251,514
= 0l & 1,397,300 1,397,300 0
s 978,110
= 167,676
Al 251,514
OX S AN MEIA EXFAFSHI (18I AISE)
1,397,300, 0003 *14] 1,397,300
= 978,110
& 167,676
Al 251,514
SE At 22l AP o148 XT& 164,464 155,580 8,884
= 79,232
= 23,770
Al 61,462




SN

X XH -
S =

At = Xl ot
KNAAB S Ol8 =8 (MEISX/ALE SR LeH)

o2 XNAAMS=XSE (e &
SA BB (3AH) - HRAY - BA= o) ) HDE 2
101 o4l 164,464 155,580 8,884
= 79,232
& 23,770
Al 61,462
03 RJHLZ2=2NHE S 164,464 0 164,464
= 79,232
< 23,770
Al 61,462
= 0ff &F 164,464 0 164,464
= 79,232
= 23,770
Al 61,462
OS & At 22l AF 21 24HI(5Y)
31,692,800 x5H 158,464
= 79,232
= 23,770
Al 55,462
OY & sOtdl 2,000,000 *5H *60% 6,000
SEHAAY =X 1,375,724 1,574,140 A 198,416
& 71,720
Al 1,304,004
E=HA 28X 1,222,640 1,243,500 A 20,860
= 3,000
Al 1,219,640
201 eI 30,000 30,000 0
01 AFSR2t2ldl 15,000 20,000 A5,000
= 0l & 15,000 20,000 A5,000
OEs3& 244l 15,000, 0003 *14] 15,000
02 2E2gH| 15,000 10,000 5,000
= 0l & 15,000 10,000 5,000
OBs3& 23234 15,000, 0003 *14] 15,000
301 ergaa 1,026,600 1,026,600 0
12 JIEtE2 43 1,026,600 1,026,600 0
= 0l & 1,026,600 1,026,600 0
OB U<
50,000 *1,177H x12& 706,200
OBNMRBI AYRAZZ2
300,000 x4H x12& 14,400




SH: AS =T D
BE: XAASIZX OI8 EA (ASI=XI/ALS] = X 2 8)
Sl BEMYMY A (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
SEFEEL TSI EY
30,0002 +810% * 122 291,600
ORNEBEUAT AMYIZI
300,000 42 * 122 14,400
307 Q120 H 166,040 186,900 £.20,860
= 3,000
Al 163,040
01 o2YREY 3,000 3,000 0
= 3,000
=0 4 3,000 3,000 0
= 3,000
OSZRIX % 8= 224 X
200,0002! * 15 3,000
= 3,000
02 BIATAAYRE 61,040 71,100 A10,060
= 0] & 61,040 71,100 £10,060
ONEHELE BX4s U
300,000 *128 3,600
OUE 2L 2L HL X LS LAIX S
8,280,000 *14} 8,280
OUS2HSPARSIMLNLSTAX
5 3,330, 0002 *14] 3,330
OUE Y 2HSPA0ILAHLNLSIAIX
5l 3,330, 0008 *14] 3,330
OUS 2D HE LB HL XL SEAIX S
8,010,0002 *14] 8,010
O4.1981 F S YBF MR} X LS E XI5
4,500,000 #14] 4,500
O(AH5.182 FE 2 S 2 A XE ST X 3
1,890,000 *14} 1,890
OUBRRB4ERNEHLESTAIN S
4,320,00081 #14] 4,320
O(A5. 18RS A TS ST 20 A0 X
5l 4,500,000 #14] 4,500
OW&e 26.258 MR BASI ST AIX 3
3,060, 0002 *14] 3,060
OS+YLRENEVLGNLSEAIXS
4,680,000 *14] 4,680
OUBYRBLHAHNSNAL NS T
AT 3l 3,240,000 *14) 3,240
OUI2s ZAAY(BLH HHRTNE)
6,300, 00021 *14] 6,300
OSZNSN2SM2AR LS
2,000,000 *14} 2,000




SM: ASISX
HH: NSAMESA et TS (At SXI/AEI S X8t
el BEAUAY X (69l @
x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T BlRE2
03 YAHHBE2IEES 102,000 112,800 210,800
= Off & 102,000 112,800 A 10,800
OE=HHd 2dg4l 102,000, 000& * 14 102,000
ESdM X RS A2 140,350 140,660 A 310
< 68,720
Al 71,630
201  LEt24dEH 22,600 24,320 21,720
= 6,000
Al 16,600
01 At 2eltl 1,120 840 280
= Off &t 1,120 840 280
SETER=11
SEEEY g BN ZEIH ME 7 1,120
0
,000& *16H
02 22293l 9,480 9,480 0
= Ofl & 9,480 9,480 0
O323223 % HA 9,480
—SHESR L FHEAN JEE B3 9,480
NMlg 250,000 204 2% 12 6,000
Aol=EMESZ 200,000& 122 2,400
dst= 30,000& 128 360
NZ 44 60,000& «12& 720
03 A2 12,000 14,000 A 2,000
= 6,000
Al 6,000
= Off & 12,000 14,000 A 2,000
= 6,000
Al 6,000
O4.1980 DI S HAL 2,000,000 » 14l 2,000
Osg 24 10,000, 000& * 14! 10,000
& 6,000
Al 4,000
301 LEtENE 76,120 70,640 5,480
= 57,720
Al 18,400
01 MIBHEE=HS 76,120 70,640 5,480
= 57,720




SN

At = Xl ot

HM: XAASEX It ZE (A2 X /AIE 2 XL
Cel BEMAAY ZA CrET
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
01 AISIEEE=6 =2 Al 18,400
= 0l & 76,120 70,640 5,480
== 57,720
Al 18,400
ONYE 2 223 SYREN Y 9=9
= 200,000& »22H x23| 8,800
O4. 1989018 3k & 85 /2
200,000 *3H 600
052289 g 2RI AL
100,000& 90 * 13| 9,000
05.18 2= 22X MAH X
130, 000& *340t 2= 12& 53,040
== 53,040
Of0I=3gt2tad XA MAHH K&
130,000& *3J7t 2 x12& 4,680
== 4,680
307 QIz2tol & 41,630 45,700 AN4,070
== 5,000
Al 36,630
04 OIZFSHALAIRE 2 X 41,630 45,700 N4,070
o= 5,000
Al 36,630
= 0l & 41,630 45,700 N4,070
== 5,000
Al 36,630
O5.1821 =323 SEHA
22,500,000 14! 22,500
06.25018 A X & 8,730,000& » 14! 8,730
Oz FE A 5,400,000& = 14 5,400
ONYEZSUHA Alatal 5,000,000& x 14 5,000
== 5,000
S22 2 JIEE 22 12,734 17,640 AN 4,906
101 o124 4| 8,141 7,047 1,094
04 JIZtHZ2Z2XNSE 8,141 7,047 1,094
= 0l & 8, 141 7,047 1,094
OSHE=sY L EEZEAIEE 22 2R 8,141
—xz+ @F oz
66,800 *3H x6 Y *33] 3,608
—MEAIR AL 20, 1602 x32 x33l 182
—&xZHA 2F2Y 66,800 x2H x8 x23| 2,138




At = Xl ot
KIS A

=4
X ZH -

oF)
%)

ok
0J
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L=}
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SEAM: AMISK B
HM: XAASEX It ZE (A2 X /AIE 2 XL
ol GEEA 2% 245 CER-E
SN FHE B (BA) - MEAY - AR (ggz::) @(ijf;ﬁ% HRE2
Ogtx=ZH| 11,542
~REEAL 2EH(ZH)Z
11,542,000& 13| 11,542
= 5,771
Al 5,771
NIAEA 2CHIO0IEH A& 54,072 54,072 0
= 22,445
Al 31,627
101 [elals] 54,072 54,072 0
= 22,445
Al 31,627
03 RIAHALZZHE = 54,072 0 54,072
= 22,445
Al 31,627
= 0l & 54,072 0 54,072
= 22,445
Al 31,627
OXeESAH 2CIUHIOIH K2 AIE (2H) 54,072
- 20 22,445,240 «2H 44 /891
= 22,445
Al 22,446
— A2 = 1,611,000& *2H 3,222
— g &3 1,779,500& «2H 3,559
—OH( AN EAYR2EA)
20,000& x2H x55| x12& 2,400
5-18 323X X 1,200 1,200 0
== 1,200
206 & H] 840 840 0
== 840
01 Mzl 840 840 0
== 840
20f| A 840 840 0
== 840
O5.18JIAF=E 201 29 M= b
35,000& x2H x123] 840
== 840
301 ot A= 360 360 0
== 360




SN

At = Xl ot

HM: XAASEX It ZE (A2 X /AIE 2 XL
ol GEEA 2% 245 CER-E
SN BB S(BH) - MBAY - BaS o @(ijf;ﬁ% HRE2
09 AIAHIEAZ 360 360 0
== 360
= 0ff &F 360 360 0
== 360
O5.18JIAFE 20| 89 XJS AL 24|
,000& x15H *33] 360
== 360
ANJSA 2435 X 58,571 65,351 AN6,780
== 7,734
Al 50,837
201 282 HH| 20,570 22,570 A 2,000
= 1,892
Al 18,678
01 Ar®2telt] 9,610 11,610 A 2,000
== 1,892
Al 7,718
= 0ff &F 9,610 11,610 A 2,000
= 1,892
Al 7,718
Ogdetx=2H| 9,610
— S A g2 350,000& x1CH*x13] 350
—OZE JIEZXN F¢E
237,000 *1CH *23] 474
— QAESI EHFY 110,000 *10H *23] 220
— Z2AI2 X 20,000 *38t A x 128 720
—EEE Zoal H& 4002 *1,0008 400
— NBASAMIAS HEH 3,000& *100H 300
—NSAI+=2H SN HX2Y
5,000& = 100K 500
— 2% NISAMAF Z20 2
50,000& *20JH 1,000
—TZ )8 29| 220,500& «123] 2,646
== 1,892
Al 754
— ANISAES AT &2t
6,000& *5008 3,000
02 =324 1,800 1,800 0
= 0ff &F 1,800 1,800 0
02222 ¥ MA 1,800




SN
X ZH -
L=

el

At = Xl ot
KNAAB S Ol8 =8 (MEISX/ALE SR LeH)
AESA 28 243

t

o)
{0
]
{0

SN FHE B (BA) - MEAY - AR o @(ijf;ﬁ% HRE2
—gEtHZ 2503 20021 x 12 600
— ABINSR=2 50,000& *2CH x12& 1,200
03 AI2HH| 9,160 9,160 0
= 0l & 9,160 9,160 0
OXJASAA B 2AY 2,160
—2ZA2012) 70,000& 1 »243| 1,680
— WEH - 24| 20,000& 1 »243| 480
OXNISALA /1328 M= 3,000,000& x13] 3,000
ONEZSHF)I| &AL s =2t0l3aely
510& *5,4900 & 2,800
QUESHFTI| A X AXNS(HE=R)
100, 000& *123] 1,200
202 Ol 2,250 2,530 N 280
01 =2LHAYI 2,250 2,530 A 280
= 0l & 2,250 2,530 N 280
ORBEN A8 L AKX 2
150, 000& *3Y 53] 2,250
206 M E&H| 23,122 23,122 0
== 5,842
Al 17,280
01 MZH| 23,122 23,122 0
== 5,842
Al 17,280
= 0l & 23,122 23,122 0
== 5,842
Al 17,280
OL-SAHN AHHIA TH2HI(20AHITH)
36,525& x20Y 43| 2,922
& 1,242
Al 1,680
OFALZ JIAMZE 01 M2 HI(50A4ICH)
10,0003 5049 »26 3/ 13,000
= 4,600
Al 8,400
OArE2 Ws 240 Mg+
2,700,000& x13] 2,700
OArg e 2 U=s M=l 4,500,000& *13] 4,500
301 ot A= 12,629 17,129 A 4,500
09 SAIAHIEAZ 12,629 17,129 AN 4,500




SN

pSEG

At = Xl ot
XS ALEI S X D gt

b RS (A

tSI S XI/ASI = X BH)

ool GREZA 2% A3 (ot M
- = Ol &M & E & 0ff A oH =
SN JH .2 (3) - MEMNY - BES (Z= o) (713 o) Hwns2
=0 & 12,629 17,129 4,500
O ZAR S A 8,0002! *4002 3,200
ONASAKR &S 10,0002 *4002 4,000
OAZo D= 22Y)| NAZAX SSH
Hl 10,0002 * 152 * 10 1,500
OSLZAT NASANE L 223 =
IR odl 88,3002 *302 2,649
ORZACHA 2012 3o (S4HI)
8,000 *80% x23] 1,280
sy Jlse NASACH X 6,508 6,508 0
[ 3,254
Al 3,254
206 K=l 6,508 6,508 0
[ 3,254
Al 3,254
01 el 6,508 6,508 0
[ 3,254
Al 3,254
=0 o 6,508 6,508 0
[ 3,254
Al 3,254
OFMSXNAZACH &S WaH
325, 4002 x203] 6.508
[ 3,254
Al 3,254
D ZMEBIR(ANBSX /I ENSDH) 36,607,238 34,791,651 1,815,587
=2 32,749,986
[ 2,474,985
Al 1,382,267
2O FMBEEAY 35,496,499 33,829,776 1,666,723
= 31,925,333
[ 2,413,135
Al 1,158,031
RASIHE SRSOIX 180,004 125,788 54,216
=2 144,004
[ 18,000
Al 18,000
301 wergaa 180,004 125,788 54,216
=2 144,004




SM: AtSI =X
FH: [UI=MESH(ASSX /I =MEEE)
S9l: RODIEMBIIHAY CER-E
SH-EH. (AN NRANY - B o) ) HDE2
301 detEaz = 18,000
Al 18,000
01 A EEESHS 180,004 125,788 54,216
= 144,004
= 18,000
Al 18,000
=04 180,004 125,788 54,216
= 144,004
= 18,000
Al 18,000
OXALAHESL2E XA (10,2461 )
180,004, 000& * 1A 180,004
= 144,004
= 18,000
Al 18,000
INELTH HRAD HONAAY 986,736 550,900 435,836
2 986,736
301 LeErEAZF 986,736 550,900 435,836
= 986,736
01 MIBEHEE=SHS3 986, 736 550,900 435,836
= 986,736
= 0l & 986,736 550,900 435,836
= 986,736
OJlz=2SX 222 XA A (35,09
41L) 82,228,000 «12& 986,736
= 986,736
=M FEHSH 69,648 69,592 56
201  Etg| 9,240 9,240 0
02 =29l 9,240 9,240 0
= 0l & 9,240 9,240 0
OZ22=223 E HA 9,240
— 2 =324 BEEHZBE EX Y =X
KO eDEl2®E U SMSH S
330& *7,000 =43 9,240
202 Ol 9,000 8,944 56
01 =AYl 9,000 8,944 56
= 0l & 9,000 8,944 56
OJ=ZMEET 22 FA 20|
150,000 *5H »63| 4,500




SH: AS =T D
HE: 20| ZMBST(MISX/IIEZMERE)
el RO ZMBLRALY CERE
x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES (ZE o) (3] o) HRE2
[= =] [= ]
OZged 2V ZHHIIAY NFANEL
Y HLDS 50,0002 *15% *23] 4,500
301 LsBA3 51,408 51,408 0
01 AMBIBEE2H3 51,408 51,408 0
=0 & 51,408 51,408 0
OJNZMH4ST & 220 1ZUAT
SN 2 FY(102 X2)
21021 *90H 6,800 4 | 51,408
204 33,952,427 32,801,700 1,150,727
= 30,557, 184
= 2,376,670
Al 1,018,573
301 LsBAD 33,952,427 32,801,700 1,150,727
= 30,557, 184
= 2,376,670
Al 1,018,573
01 AMBIBEE2H3 33,952,427 32,801,700 1,150,727
= 30,557, 184
< 2,376,670
Al 1,018,573
=0 33,952,427 32,801,700 1,150,727
= 30,557, 184
= 2,376,670
Al 1,018,573
OJIZMHS01(13,027%)
2,829,368,9162 * 122 33,952,427
= 30,557, 184
= 2,376,670
Al 1,018,573
RS20 43,896 43,896 0
308 XHXIEHH SO 43,896 43,896 0
08 REIIBUCHEERE 43,896 43,896 0
=0 4t 43,896 43,896 0
ODEZ204(3,283%) 21,948,000% x23] 43,896
ot & =R 2 0 263,788 237,900 25,888
= 237,409
= 18,465
Al 7,914
301 LsrEAR 263,788 237,900 25,888




SEAM: AMISK B
M. I ZMEBH(AIZEX /I ZNHNEBE)
S9l: RODIEMBIIHAY CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
301 ot A= = 237,409
== 18,465
Al 7,914
01 AMSIEEE=G =2 263,788 237,900 25,888
= 237,409
= 18,465
Al 7,914
= 0l & 263,788 237,900 25,888
= 237,409
& 18,465
Al 7,914
Oollab - ZHZ01(3248 ) 263,788,000 * 14! 263,788
= 237,409
== 18,465
Al 7,914
=0 = MESEAS 1,110,739 961,875 148,864
= 824,653
== 61,850
Al 224,236
Il = ME X2 79,922 80,044 N 122
201 B2 A Y| 13,772 13,801 A 29
01 Ar®2telt] 11,180 11,180 0
= 0ff A 11,180 11,180 0
OFOAHA SEHUHAM M
1,000& *3,300% 3,300
(@21 5= 7,880
—ANIBEZN 28 S5 MA E2t
2023 *12,00000 x 125 2,880
—MIBEZH 2= HE
500! *10,0000H 5,000
02 =324l 2,592 2,621 A 29
= 0l & 2,592 2,621 N 29
OZ2Z22=22HA 2,592
— ZANEER RESE
1,800& 1208 ~12& 2,592
202 044l 66, 150 66,243 AN 93
01 2Ll 66, 150 66,243 A 93
= Ol & 66, 150 66,243 A 93




SM: ASISX
H: 20IZMEEH(MIEX/IZHEEE)
Chel: S0 ZME S EALY (o2&
x s . 0 & o H = ol -
Fa . g2(3H) - HRAY - BES ey T =2
O=W Al 66, 150
—MIEESH SHAIAN BNSEA
150,000& »10H »23| 3,000
—MNISETAY NEAEY WsEA
150,000 28K » 13| 4,200
— Y= S(MIABHIBAAY) B
2 gelt nsaA 150,000 »3H x33| 1,350
— SNHAT ZAHESR =& 2UHAH|
20,000 *20H x 123 x12& 57,600
Xl 1,030,817 881,831 148,986
= 824,653
& 61,850
Al 144,314
LUEAS 1,030,817 881,831 148,986
= 824,653
= 61,850
Al 144,314
M EBEE 63 1,030,817 881,831 148,986
= 824,653
= 61,850
Al 144,314
= Ol &t 1,030,817 881,831 148,986
= 824,653
& 61,850
Al 144,314
Oz2sX XF A (1,201Y)
1,030,817,000& 1,030,817
= 824,653
= 61,850
Al 144,314
S(ASSXD)(ASI ST /I =HEEE) 3,280,574 3,290, 102 A9,528
HEHAHXES(ASASELESH B&2) 3,280,574 3,290, 102 A9,528
AZESMNUELESH NA &= 3,280,574 3,290, 102 A9,528
JIEtl HEEES 3,280,574 3,290, 102 A9,528
JIEt HEE= 3,280,574 3,290,102 29,528
Ol &F 3,280,574 3,290, 102 A9,528
O2d=2s50J)I= EL2H N dE=S
3,280,574,000& 3,280,574
e Z I (A3l = X ) (D1 EH/ DI E) 101,811 101,271 540




SN

At = Xl ot

M HHE2HAHI(AZIS X)) (IIEHIIE)
el D12 Z I (At = Xl (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES e BT BlRE2
Jl2Z 4l (Arsl = Xl 1) 101,811 101,271 540
Jl2dul(Atsl S X 1) 101,811 101,271 540
201 et 4dH 51,513 50,433 1,080
01 AtR2Zeltl 51,513 50,433 1,080
= Off & 51,513 50,433 1,080
Oggt=ZH| 23,865
—Jle AR ESHI 100, 000& 36X 3,600
— SAJ RXZ2H(EWH ¥ =72
g) 480,000 *2CH *63| 5,760
—Zgy EUTY 237,000 x50 x53] 5,925
—=SAMSX 7Y 23,000 302t A+123 8,280
—MNRY FAEE 7Y 150,000& *23| 300
O=2 &l 27,648
—ABIEXHRFE S2014HI|
8,000& *x36H x8L x12& 27,648
202 044l 45,600 45,600 0
01 LAY 45,600 45,600 0
= Off & 45,600 45,600 0
OMEIEX HRFT 2LHHH
20,0003 *19H x103| * 45,600
203 YR F=THI 4,698 5,238 A 540
04 REA2EHRFEH 4,698 5,238 A 540
= Ofl &F 4,698 5,238 A 540
O A&l = Xl ot 435,000 123 *90% 4,698




